STAT 319_163_ Quiz 5                                    					   Time: 40 min
Name:  -----------------------------------------------------   	ID: ------------------------------------------------



Q1: It is known that in a chemical process the purity of oxygen is related to the percentage hydrocarbons  that are present in the main condenser.  The purity of the oxygen in percents was measured in 20 hydrocarbon levels and the following regression summary information were obtained: ,  , , where the fitted  equation is Y = 75.20 + 14.97X . Based on this,
 a). Compute and interpret the correlation coefficient




b). Compute error variance.






c). Test significance of the regression slope with a significance level of 1%.















Q2. Consider the following MINITAB out put, and fil in the missing spaces.
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Formula Sheet: Chapter 11 and 12
Simple Linear Regression
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